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QUESTION 1

You configured the route filter shown in the exhibit. 

In this scenario, which IP addresses would term-One accept? 

A. IP addresses that are part of the 172.35.0.0/16 network only. 

B. IP addresses that are part of the 172.35.0.0/16 network and IP addresses that are in the 172.35.0.0/16 and
172.36.0.0/16 subnets. 

C. IP addresses that are in a subnet of 172.35.0.0/16 network, but not IP addresses that are part of the 172.35.0.0/16
network itself. 

D. IP addresses that are part of the 172.35.0.0/16 network and IP addresses that are in subnets of 172.35.0.0/16
network. 

Correct Answer: A 

 

 

QUESTION 2

How many host addresses are available in the 172.27.0.0/28 network? 

A. 6 

B. 14 

C. 28 

D. 30 

Correct Answer: B 
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QUESTION 3

Which two statements about subnet masks are true? (Choose two.) 

A. If a bit is turned on (1), the corresponding bit in the IP address is used for the host portion. 

B. If a bit is turned off (0), the corresponding bit in the IP address is used for the host portion. 

C. If a bit is turned on (1), the corresponding bit in the IP address is used for the network prefix. 

D. If a bit is turned off (0), the corresponding bit in the IP address is used for the network prefix. 

Correct Answer: BC 

 

QUESTION 4

Click the Exhibit button. 

A user attempts to log in to a Junos device. but the RADIUS server is unreachable. Referring to the exhibit, what is the
default action of a Junos device in this scenario? 

A. The Junos device retries every 30 seconds until the connection is restored. 

B. The Junos device uses the local authentication database. 

C. The Junos device displays a RADIUS connection error. 

D. The Junos device prompts for a cached RADIUS password. 

Correct Answer: C 

 

QUESTION 5

Which two interfaces are considered physical interfaces? (Choose two.) 

A. ge-0/0/0 

B. et-7/1/4.0 

C. et-3/0/0:0.501 

D. xe-10/2/1 

Correct Answer: AD 
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